1/N
|
<

Ratio to ALICE

2 -1-
. N/dy,dp_ [(GeV)]

=

T

=
<
I

1073

1074

0.5

900 GeV pp Soft QCD
E._ T | T T T T T T 17 | o | b I_:
- PT() (lyl < 0.75) -
- :;';';i o i
: ha =
- m ALICE e -
L --f3-- Herwig 7.2.0 default ‘\5 ]
— —&— Pythia 8.108.p1 default N

----- ¢ Sherpa 1.3.0 default

s -4
» .

E & i AL N

.".. ’.“,.- |
¢

- "’E‘\ ,,E _
L [ . [ _|

. . el - T )
| \ 'B/ - = _

1 f\ | M 1 M 1 1 1 M | M 1 M 1 M | M 1 M 1
1 2 3

Rivet 3.1.0, = 5.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


